

$$\lambda_P = \frac{l_1}{l_0} = \frac{\sin \epsilon_0}{\sin \epsilon_1} \quad [40]$$

Eq. [40], which relates the tensile elongation with the lattice rotation for a crystal undergoing double glide, was obtained by v. Göler and Sachs⁴ through the integration of a differential equation. From Eq. [6], we also have

$$\lambda_P \rho_3 = \frac{\partial x_3}{\partial X_1} P_1 + \frac{\partial x_3}{\partial X_2} P_2 + \frac{\partial x_3}{\partial X_3} P_3$$

or

$$\lambda_P \cos \epsilon_1 = -\frac{1}{\sqrt{2}} (1 - e^\varphi) \sin \epsilon_0 + e^\varphi \cos \epsilon_0$$

or

$$e^\varphi = \frac{\sqrt{2} \cot \epsilon_1 + 1}{\sqrt{2} \cot \epsilon_0 + 1} \quad [41]$$

by substituting $\lambda_P = \sin \epsilon_0 / \sin \epsilon_1$. Eq. [41] may be re-written as

$$S = 2\alpha = \sqrt{6} \varphi = \sqrt{6} \ln \left[\frac{\sqrt{2} \cot \epsilon_1 + 1}{\sqrt{2} \cot \epsilon_0 + 1} \right] \quad [42]$$

which relates the amount of glide and the lattice rotation for the double-glide case. Eq. [42] was likewise developed by v. Göler and Sachs. It may be noted if ϵ_0 and ϵ_1 are measured from $[112]$ and toward the $[\bar{1}11]$ position, Eq. [42] becomes

$$S = \sqrt{6} \ln \left[\frac{\sqrt{2} \cot \epsilon_1 - 1}{\sqrt{2} \cot \epsilon_0 - 1} \right] \quad [43]$$

ACKNOWLEDGMENTS

The authors express sincere thanks to A. T. English, E. N. Gilbert, J. A. Lewis, and J. H. Wernick for valuable discussions during the course of the work. Experimental assistance from A. J. Williams and A. V. Rudzki are gratefully appreciated.

*Note added in proof: After the present work was submitted for publication, two related papers, by Bowen and Christian¹⁰ and by Schubert,¹¹ have come to our attention. The Bowen and Christian treatment of single glide is essentially the same as ours. Their results for double glide, like those of v. Göler and Sachs, were obtained by integrating a differential equation. The latter method was also used by Schubert in treating both single and double glide. On the other hand, we obtained, directly from the limit in Eq. [21], the resultant deformation gradient matrix, from which all quantities associated with the deformation can be computed readily.

APPENDIX⁹

ALTERNATIVE EVALUATION OF $e^{\alpha F_1}$ IN THE DOUBLE-GLIDE CASE

In Eq. [20], it is noted that

$$F_1 = m_A n_A^T + \beta m_B n_B^T \quad [A.1]$$

for slip on systems A and B. Let us define matrices

$$P = m_A n_A^T, \quad Q = m_B n_B^T, \quad R = m_B n_A^T, \quad S = m_A n_B^T \quad [A.2]$$

and the scalar products

$$r = n_A^T m_B, \quad s = n_B^T m_A \quad [A.3]$$

Since the slip directions m_A and m_B lie in the slip planes of normals n_A and n_B , respectively, we have

$$n_A^T m_A = n_B^T m_B = 0 \quad [A.4]$$

In view of the above definitions, the matrices P, Q, R, and S have the following multiplication table:

| | | Second Factor | | | |
|--------------|---|---------------|----|----|----|
| | | P | Q | R | S |
| First Factor | P | 0 | rS | rP | 0 |
| | Q | sR | 0 | 0 | sQ |
| | R | 0 | rQ | rR | 0 |
| | S | sP | 0 | 0 | sS |

[A.5]

By application of this table, one finds

$$F_1^2 = (P + \beta Q)^2 = P^2 + \beta(QP + PQ + \beta Q^2) = \beta(sR + rS)$$

$$\begin{aligned} F_1^3 &= (P + \beta Q)\beta(sR + rS) = \beta(sPR + rPS) \\ &\quad + \beta^2(sQR + rQS) \\ &= \beta rs(P + \beta Q) = \beta rs F_1 \end{aligned}$$

It can be seen that each even power of F_1 is a scalar multiple of the matrix F_1^2 , which we denote by

$$B = F_1^2 = \beta(sR + rS) \quad [A.6]$$

while each odd power is a scalar multiple of F_1 itself, since

$$BF_1 = F_1 B = \beta rs F_1 \quad [A.7]$$

Thus

$$\begin{aligned} F_1^2 &= B, & F_1^3 &= \beta rs F_1 \\ F_1^4 &= B^2 = \beta rs B, & F_1^5 &= (\beta rs)^2 F_1, \text{ and so forth} \end{aligned} \quad [A.8]$$

In general,

$$\begin{aligned} F_1^{2k+1} &= (\beta rs)^k F_1 \\ F_1^{2k+2} &= (\beta rs)^k B \end{aligned} \quad [A.9]$$

Finally,

$$\begin{aligned} e^{\alpha F_1} &= I + \sum_{k=0}^{\infty} \frac{(\alpha F_1)^{2k+1}}{(2k+1)!} + \sum_{k=0}^{\infty} \frac{(\alpha F_1)^{2k+2}}{(2k+2)!} \\ &= I + \frac{F_1}{\sqrt{\beta rs}} \sum_{k=0}^{\infty} \frac{(\alpha \sqrt{\beta rs})^{2k+1}}{(2k+1)!} \\ &\quad + \frac{B}{\beta rs} \sum_{k=0}^{\infty} \frac{(\alpha \sqrt{\beta rs})^{2k+2}}{(2k+2)!} \\ &= I + \frac{F_1}{\sqrt{\beta rs}} \sinh(\alpha \sqrt{\beta rs}) + \frac{F_1^2}{\beta rs} [\cosh(\alpha \sqrt{\beta rs}) - 1] \end{aligned} \quad [A.10]$$

As a simple example, we reconsider the case of (110)[$\bar{1}12$] compression, for which $e^{\alpha F_1}$ has already been evaluated in Eq. [33]. For this case, we have $\beta = 1$, $r = s = (1/3)\sqrt{6} = 2/\sqrt{6}$, and F_1 is given by Eq. [31]. Hence

$$\frac{F_1}{\sqrt{\beta rs}} = \begin{bmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -\frac{1}{\sqrt{2}} & 1 \end{bmatrix}, \quad \frac{F_1^2}{\beta rs} = \begin{bmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -\frac{1}{\sqrt{2}} & 1 \end{bmatrix}$$

Substitution into Eq. [A.10] then gives, with $\varphi = 2\alpha/\sqrt{6}$,

$$e^{\alpha} F_1 = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} + \begin{bmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -\frac{1}{\sqrt{2}} & 1 \end{bmatrix} \sinh \varphi + \begin{bmatrix} 1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -\frac{1}{\sqrt{2}} & 1 \end{bmatrix} (\cosh \varphi - 1)$$

$$= \begin{bmatrix} (\cosh \varphi - \sinh \varphi) & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -\frac{1}{\sqrt{2}} (\cosh \varphi + \sinh \varphi - 1) & (\cosh \varphi + \sinh \varphi) \end{bmatrix} = \begin{bmatrix} e^{-\varphi} & 0 & 0 \\ 0 & 1 & 0 \\ 0 & \frac{1}{\sqrt{2}} (1 - e^{\varphi}) & e^{\varphi} \end{bmatrix}$$

in agreement with Eq. [33].

REFERENCES

- ¹G. I. Taylor: *S. Timoshenko 60th Anniversary Volume: Contributions to the Mechanics of Solids*, pp. 218-224, MacMillan Co., New York, 1938.
²J. F. W. Bishop: *Phil. Mag.*, 1953, vol. 44, pp. 51-64.
³H. Mark, M. Polanyi, and E. Schmid: *Z. Physik.*, 1922, vol. 12, pp. 58-77.
⁴v. Göler and G. Sachs: *Z. Physik.*, 1927, vol. 41, pp. 103-15.
⁵G. I. Taylor and C. F. Elam: *Proc. Roy. Soc. (London), Ser. A*, 1923,

vol. 102, pp. 643-67.

⁶G. Y. Chin: *J. Appl. Phys.*, 1965, vol. 36, pp. 2915-24.

⁷G. Y. Chin, E. A. Nesbitt, and A. J. Williams: to be published in *Acta Met.*, 1965.

⁸For formulas in continuum mechanics, see, for example, C. Truesdell and R. Toupin: *Handbuch der Physik*, S. Flügge, ed., vol. III/1, pp. 226-793, Springer-Verlag, Berlin, 1960; or R. N. Thurston: *Physical Acoustics*, W. P. Mason, ed., vol. 1, part A, pp. 1-110, Academic Press, New York, 1964.

⁹E. N. Gilbert: 1965, Bell Telephone Laboratories, Inc., Murray Hill, N. J.

¹⁰D. K. Bowen and J. W. Christian: *Phil. Mag.*, 1965, vol. 12, pp. 369-78.

¹¹M. Schubert: *Ann. Physik*, 1964, vol. 13, pp. 73-85.

ACKNOWLEDGMENTS

The authors express sincere thanks to A. T. English, E. N. Gilbert, J. A. Lewis, and J. R. Wernick for valuable discussions during the course of the work. Experimental assistance from A. J. Williams and A. V. Ruski are gratefully appreciated.

*Work done in part after the present work was submitted to publication. Two related papers by Bowen and Christian¹⁰ and by Schubert¹¹ have come to our attention. The Bowen and Christian treatment of angle glide is essentially the same as ours. Their results for double glide are those of v. Göler and Sachs, who obtained by integrating a differential equation. The latter method was also used by Schubert in treating double glide. On the other hand, we obtained directly from the differential equation the reaction direction which was used in our analysis. The reaction direction equation differs from which our analysis coincided with the derivation of the correct result.

APPENDIX

ALTERNATIVE EVALUATION OF α IN THE DOUBLE-GLIDE CASE

In Eq. [20] it is assumed that

$$F_1 = m_A^T A + m_B^T B$$

for slip on systems A and B. Let us define matrices

$$P = m_A^T A + m_B^T B, \quad H = m_A^T B - m_B^T A$$

and the scalar products

$$A_1 = m_A^T A, \quad B_1 = m_B^T B$$

since the slip directions m_A and m_B are in the slip planes of systems A and B, respectively, we have